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1

STEP   = 1
SUB     = 1
TIME   = 1
SEQU            (AJAG)
DCEX  = 0.01261
Sedi     = 0.143254
Shx      = 197.145

NODAL SOLUTION

-143254              43.921              87.7                 131.478           175.256
22.032              65.811          109.589             153. 367             197.145

A through crack enanating from a hole for a = 1

1
STEP   = 1
SUB     = 1
TIME   = 1
SEQU            (AVG)
DCEX   = 0.013255
SEDI     = 0.18424
SEDI     = 101.19
SHX      = 155.283

NODAL SOLUTION

-18434                  22.63                  45.076                67.521              89.967
11.407                33.853                56.298                78.744             101.19

A through crack enanating from a hole form a = 1
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STEP   = 1
SUB     = 1
TIME   = 1
SEQU            (AVG)
DHX     = 0.01595
SEDI     = 0.162661
SEDI     = 81.419
SHX      = 125.089

NODAL SOLUTION

-162661                 18.22                 36.277                54.334                72.391
 9.191                 27.248                45.305                 63.362             81.419

A through crack enanating from a hole form a = 1
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